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Based on NCERT Pattern- 

Verification of Division- 

To check the division- 

Dividend= (Quotient x Divisor ) + Remainder 

For example- 

3)6(2                            In this example- Divisor =3 

    6                                                              Dividend=6 

_____ 

   O                                                        Quotient=2 and, 

                                                                Remainder=0 

Now , on checking- 

Dividend=(Quotient x Divisor) + Remainder 

   6= (2x3) +0 

   6=6 

Checked 

Homework-Write and learn it. 
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